Géavleborgs BF
DM-Lag Match8

IMP o6ver faltet, 8 bord, 16 par. Antal brickor: 12.

Plac  Par Poéng Namn MID Klubb
1 12 2.76 Christina Ahl - Malin Helin 3140 30933  Gavle BK
2 14 2.29 Anna Lundvall - Anders Sjoberg 83993 52 Géavle BK
3 4 2.15 Hakan Svensson - Urban Bjorklund 3390 9496 Bollnés BK
4 8 1.75 Pernilla Andreasson - Kjell Carlsson 24710 6176 Bollnas BK
5 7 1.70 Patricia Kronback - Hakan Lindstrom 33879 12472  Gavle BK
6 11 1.46 Daniel Eriksson - Rolf Scherdin 24659 3102 Gévle BK
7 1 1.23 Lars Ericson - Bo Ericson 12536 2962 Gévle BK
8 2 1.06 Rune Pettersson - Sune Fager 3141 3146 Géavle BK
9 15 -1.06 Kristina Jonsson - Daniel Jonsson 15266 56316  Gavle BK
10 16 -1.23 Jens Brodin - Erik Gulliksson 84125 24169  Gavle BK
11 6 -1.46 Kent Maltein - Ronny Tdérnberg 15967 10934  Sandvikens BK
12 10 -1.70 Ann Fagerberg - Lars Andersson 88969 18938  Skutskars BK
13 9 -1.75 Olle Sundqyvist - Tore Enbarr 2982 3044 Sandvikens BK
14 13 -2.15 Johnny Karlsson - Lars Karlsson 20903 24249  Sandvikens BK
15 3 -2.29 Stefan Westlund - Anders Wike 13174 2966  Gavle BK
16 5 -2.76 Jan Fransson - Lars-Goran Ostlund 12537 2995 Sandvikens BK - Gévle BK
13 4 K9764 Bésta kontrakt 14 43 Bésta kontrakt 15 4 E1063 Bésta kontrakt
Nord v 107 34 N =140 Ost v KDKn754 5¢ SD-1-100 Syd v E87 INTS =90
Alla 4963 Ingen + EKKn97 NS + 1093
#DKn10 & ¢ v & NT *2 & ¢ v & NT *Kn74 & ¢ v & NT
4 Kn108 D32 N 8 108 9 8 « EKn864 & D92 N 3 108 3 3 aKn74  #K952 N6 7667
vKn632 vKD54 S 9 108 9 8 v 1063 vE92 S 3 108 3 3 vDKn93 v52 S6 7767
¢Kn82 ¢D7 043535 +3 ¢ 10854 09 3 3 108 + K5 ¢+ E874 O756 66
K64 #8752 V42535 #KD64 #EKn8 vV 9 3 3 108 #KD32 #1096 V756¢6F6
4 E5 4 K1075 «D8
vE98 v8 v K1064
+ EK1054 + D62 + DKn62
#E93 #109753 »E85
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 10 3NS= &4 600 62.0 -62.0|15 2 4¢DN= «Q 510 67.0 -67.0| 8 9 2¢ O-3 4Q 150 20.0 -20.0
11 6 3NN= &5 600 62.0 -62.0(11 6 4y N+1 42 450 61.0 -61.0(16 1 24V-2 ¢6 100 70 -7.0
14 3 3NS= v3 600 62.0 -62.0(16 1 3v N+1 &A 170 20.0 -200( 5 12 INS= v3 90 50 -5.0
8 9 44 N-1 &5 -100 -30.0 30.0| 8 9 54DV-1 ¢A 100 80 -80(11 6 INS= 3 90 50 -5.0
15 2 3NN-1 +Q -100 -30.0 30.0| 5 12 4y N-1 a3 -50 -18.0 18015 2 INS= vQ 90 50 -5.0
16 1 3NS-1 3 -100 -30.0 30.0|14 3 3vy N-1 a2 -50 -18.0 180 7 10 INO-1 4Q 50 -40 40
5 12 3NS-2 ¢3 -200 -48.0 48.0| 7 10 34 V+2 ¢K -200 -41.0 41.0|14 3 INO-1 4Q 50 -40 4.0
13 4 3NS-2 v4 -200 -48.0 48.0|13 4 5vDN-3 43 -500 -79.0 79.0(13 4 2¢ S-1 &K -100 -34.0 34.0
16 » K10752 Bésta kontrakt 17 & K762 Bésta kontrakt 18 & K83 Bésta kontrakt
Vast vE 3¢ N =110 Nord v DKn92 5¢v N D -2 -300 Ost vD10 4v O =-420
oV + KDKn4 Ingen + 10532 NS + EKD4
#K105 & ¢ v & NT *9 & ¢ v & NT #Kn1097 & ¢ v & NT
#9086 « EDKn43 N9 9667 4D943 4 EKn8 N26957 aKn 4109642 N7 7374
v KKn10965 v83 S 99656 v7 v43 S269 37 vE976532 vK8 S77374
+95 4862 044776 ¢K9874 +E O 117 3 8 6 +3 ¢ Kn1092 O 6 4 106 6
*Kn9 #ED3 V447786 #653 #KDKn10742V 117 3 8 6 #EK85 *43 V 6 4 106 6
a- 4105 4 ED75
vD742 v EK10865 vKn4
¢+ E1073 + DKn6é + 8765
#87642 #E8 «D62
Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang
11 6 24DO-1 v4 200 30.0 -30.0(14 3 44V-1 ¥¢Q 50 430 -43.0| 7 10 4v V-1 ¢K 50 52.0 -52.0
5 12 2¢ N+1 ¢4 110 80 -80| 8 9 5vS-1 &3 50 25.0 -25.01 8 9 4v V-1 +A 50 52.0 -52.0
7 10 3¢ N= v8 110 80 -80(|11 6 4#0+1 vA -150 40 -40(14 3 2vV+2 +A -170 13.0 -13.0
8 9 2¢ S+1 5 110 80 -80(13 4 440+1 vA -150 40 -40| 5 12 44 S-2 #A -200 110 -11.0
13 4 2¢ N+1 v8 110 80 -80(15 2 440+1 vA -150 40 -40(11 6 4v V= ¢A -420 -32.0 32.0
16 1 2¢ N+1 8 110 80 -80(16 1 440+1 v¥K -150 40 -40|13 4 4v V= ¢ A -420 -32.0 32.0
14 3 3¢ N-2 ¢2 -100 -30.0 30.0| 5 12 54 0= vA -400 -420 42.0|15 2 4vO= ¢ A -420 -32.0 32.0
15 2 54N-3 ¢8 -150 -40.0 40.0| 7 10 54 O= vK -400 -42.0 42016 1 4v V= + K -420 -32.0 32.0
19 41094 Basta kontrakt 20 4 KD543 Basta kontrakt 21 473 Basta kontrakt
Syd v Kn9752 5& N D -3 -500 Vast vKn76 54 N =650 Nord v DKn82 6NT O =-990
(6)) + E843 Alla 4106 NS + D10653
*4 & ¢ v & NT #EK5 & ¢ v & NT #D6 & ¢ v & NT
4 Kn3 4EKD7652 N 8 8 6 3 3 4Knl07 49 N 115 5 1110 4Kn865 4ED104 N32411
vD104 v EK6 S786 33 vD542 vE10983 S 115 5 1110 v EK9 v 103 S32411
¢ K10765 ¢ - O 4 4 5 105 ¢Kn32 ¢ ED854 027823 ¢ K42 ¢ EKn98 O 9 109 1212
985 #Kn32 V 4 45 105 #832 #DKn V27823 #Kn94 &EKS8 V 9 109 1212
48 & E862 & K92
v 83 vK v 7654
¢ DKn92 + K97 *7
#EKD1076 #109764 #107532
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
7 10 54 O-1 &K 100 62.0 -620| 7 10 44 N+1 ¥vA 650 430 -43.0|13 4 64 V-1 a7 50 72.0 -72.0
14 3 54 O-1 #A 100 62.0 -62.0( 8 9 44 N= *Q 620 350 -35.0(14 3 64 V-1 &7 50 72.0 -72.0
8 9 54DS-1 &J -100 370 -37.0|11 6 44 N= vA 620 350 -35.0(11 6 3NO+2 &2 -460 3.0 -3.0
13 4 54DS-2 4 -300 6.0 -6.0|13 4 44 N-= *Q 620 350 -35.0| 7 10 44 V+2 +8 -480 -1.0 10
15 2 54DS-3 4J -500 -29.0 29.0| 5 12 34 N+2 #Q 200 -37.0 37.0|15 2 44 V+2 vQ -480 -1.0 10
512 44 O= #A -620 -46.0 46.0|14 3 34 N+2 ©vA 200 -37.0 37.0|16 1 4vV+2 vQ -480 -10 1.0
11 6 44 O= #A -620 -46.0 46.0|15 2 34 N+2 #Q 200 -37.0 37.0| 5 12 64 O= *7 -980 -72.0 72.0
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16 1 44 0= &K -620 -46.0 46.0(16 1 34 N+2 &J 200 -37.0 37.0( 8 9 64 V= a7 -980 -72.0 72.0
22 aE2 Basta kontrakt 23 « E95 Basta kontrakt 24 #9865 Basta kontrakt
Ost v EK9 ANT S =430 Syd v EKn74 24 S =110 Vast v 8742 5NT V =-460
oV + DKn92 Alla + D975 Ingen + K52
#EKNn96 & ¢ v & NT &#K38 & ¢ v & NT &73 ¢ v & NT
4 K8743 &5 N 9 8 9 1010 4 D73 4 Knl02 N8 87 87 «D10 & KKn7 N 2342
v Kn7 v D652 S 98 9 1010 v 3853 v K1096 S88787 v Kn103 v EK6 S 2 342
¢ K1083 ¢ E764 045333 ¢+ KKn10 ¢ E642 O5565€6 ¢ ED ¢ Kn8743 O 1111108 11
&D5 #10842 V45433 #DKn107 62 V55656 &#KKNn9654 #»E8 vV 11119 8 11
& DKn1096 « K864 & E432
v 10843 vD2 v D95
+5 +83 + 1096
&K73 &E9543 D102
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 9 24DV-4 vA 1100 75.0 -75.0|11 6 INN+2 9 150 270 -27.01 8 9 3NO= a4 -400 13.0 -13.0
14 3 24DV-4 vA 1100 75.0 -75.0|16 1 2NN= e 120 220 -22.0| 7 10 3NO+1 43 -430 50 -5.0
5 12 14D 0O-2 «A 500 -4.0 40| 5 12 INN= e 90 140 -140(15 2 3NO+1 a7 -430 50 -5.0
7 10 3NN+1 ¢4 430 -15.0 15.0| 7 10 INN= v6 90 140 -140( 5 12 3NO+2 &A -460 -3.0 3.0
11 6 3NS+1 8 430 -15.0 15.0(15 2 INN= e 90 140 -140(13 4 3NV+2 49 -460 -3.0 3.0
15 2 3NS+1 3 430 -15.0 150 8 9 2NN-1 ¢4 -100 -24.0 24.0|14 3 3NO+2 42 -460 -3.0 3.0
16 1 3NN+1 46 430 -15.0 15.0(13 4 INN-1 v9 -100 -240 24.0(|16 1 3NO+2 5 -460 -3.0 3.0
13 4 4vS-3 ¢3 -150 -86.0 86.0|14 3 2NN-2 #9 200 -43.0 43011 6 3NO+3 T -490 -11.0 11.0
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